3 - otaqli / 3-x KOMHaTHaA

Manzil / KBapTupa
Eyvan / bankoH
Comi/WUtoro o

= 96 m?
= 33 m?
129 m?

2 - otaqli / 2-x KOMHaTHaA
Manzil / Keaptupa = 69 m?
Eyvan/BankoH = 10 m?
Comi/Wtoro  g= 79 m?

3 - otaqli / 3-x KOMHaTHaA

Manzil / KBapTupa
Eyvan / bankoH
Comi/WUtoro g

142 m?
45 m?
187 m?
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3 - otaqli / 3-x KOMHaTHaA

Manzil / KBaptupa
Eyvan / bankoH
Cami / Ntoro

= 96 m?
= 33 m?
129 m?

2 - otaqli / 2-x KOMHaTHaA

Manzil / KBapTtupa
Eyvan / bankoH
Cami / Ntoro

4 - 8 martabalor

= 61 m?
= 10 m?
71 m?
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4 - otaqli / 4-x KOMHaTHasA

Manzil / KBapTtupa
Eyvan / bankoH
Cami / Ntoro

178 m?
51 m?
229 m?



